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Sl. No.1
QBID:1554941

From among the four options given. choose the correct sequence of the four
phrases given below. to make a meamngful sentence :

A. Lower our guard and our masks

B. repeatedly whether the pandemic might finally
C. be over., many of us are willing to

D. having asked ourselves

(1) ALC.B.D
2y D.B.C. A
3) C.D.A.B
4) B.A.D.C

fe~<1 quiHTen & HA W & -
(1) 3 3mz g
(2) 35T

(3) M % T 3
(4) 53 F

1[Option ID=8301]
2[Option ID=8302]
3[Option ID=8303]
4[Option ID=8304]

Sl. No.2
QBID:1554942

Which of the following is one-word substitute for "the quality of having a ready
msight into things'?

(1) Felicity

(2) Tenacity

(3) Perspicacity

(4) Chromaticity

TENT F HEIH B HEd 5 -
(1) A=

(2) |H

(3) Uidd
(4) =M




1[Option ID=8345]
2[Option ID=8346]
3[Option ID=8347]
4[Option ID=8348]

Sl. No.3
QBID:1554943

Identify the correct indirect narration for the following sentence :

The lady said to the servant. "If you don't wash the clothes properly. I wall
dismiss you".

. The lady warned the servant that she would dismiss her if she didn't wash the
) clothes properly

(2) The lady told the servant that she would dismiss her on the event of bad work
(3) The lady cautioned the servant that she must wash the clothes properly

(4) The lady advised the servant to wash the clothes properly
Fofeiaa areiel &1 3 HHTER S0aiyd SIfg

A. G861 A BH &
B. =t 3ol i
C.Ou e ™

D. & FHEg $3H & o
E. T &1

= fou v fawedl & § 981 ST &1 994 SIvY ;
1) A B C.D.E

) E.D.C.A.B

3) C.D.E.A.B

@) D.E,A.B.C

1[Option ID=8373]

2[Option ID=8374]

3[Option ID=8375]
4[Option ID=8376]

Sl. No.4
QBID:1554944

Pick the plural form of 'matrix’'.

(1) Matrixs

(2) Matrices

(3) Matries

(4) Matrit

9 @ ¥ AU T ; TF fHFUT (Assertion A) F w0 # ffEd ¢ O g0 99F FRO
(Reason R) & &0 H :

HYFYTA: Tes Q0w e ' 7o el =5 |

&R R : ford Weg & &0 § $I5 0N gl &, 94 BN Weg $6d & |

TR FUT F A §, A" G T Geel § 9 999 Iugsd IR &1 999 S ;




(1) A 3R R SHf 98t & 3R R, A &I 98! = &
(2) ANRREFNI TR a R AF TR a8 2

(3) AGSiefea R od 8 &
(4) AT Sz dfea R 2

1[Option ID=8377]
2[Option ID=8378]
3[Option ID=8379]
4[Option ID=8380]

Sl. No.5
QBID:1554945

Which of the following options will be the correct choice for the blank?

I'm not sure where he 1s. He out for a walk.
(1) gone

(2) may have gone

(3) has gone

(4) is going

9 # 9§ 3 wea THE! 1 909 ST |

A. fafy, wy, erafys, faefzol
B. #fg=1, 3o, fasgar, wHen
C. T&{, I¢Fl, FRO, S
D. 3, Sear, 55aY, 5
E. farfge, igol, |, oig

i feu v fawedf § € 981 SR &1 994 SIvL
) A,C.E.D

(2) B.A.D.E

3) E.B.C,A

) C.B.A.E

1[Option ID=8381]

2[Option ID=8382]

3[Option ID=8383]
4[Option ID=8384]

Sl. No.6
QBID:1554946




Match List I wath List IT :

List I List IT
(Animals) (Sound)
A apes I. howl
B wolves II. gibber
C lambs I .squel
D pigs I'V.bleat

Choose the correct answer from the options given below :
(1) A-IL B-I. C-IV. D-IIT

(2) A-III. B-IV, C-II, D-I

(3) A-IV, B-II. C-III. D-I

(4) A-IIL, B-III, C-IV, D-I

T 1 & a1y 3l 11 1 e S

List I List IT
(@) (EPrd® eq)
A. e ® fwedn s L SHEECID]
B. el S 9 B 1. fRramdor
HTH & &I Sgal g5
- I11. PRk
SHY & g Bl HUAT
D. S IV. 3®®

i fou v fawedf § © 981 SR &1 9949 SV ;
(1) A-I, B-II, C-III. D-IV

(2) A-IL, B-III. C-IV, D-I

(3) A-IV, B-III. C-I, D-II

(4) A-IIIL B-IV, C-1, D-II

1[Option ID=8385]

2[Option ID=8386]

3[Option ID=8387]
4[Option ID=8388]

Sl. No.7
QBID:1554947

From among the four options given. choose the one which is a grammatically
correct sentence.
(1) Frequent entertam or quality time m home calling out for comfort seating.

(2) Frequent entertaining or quality time at home calls out for comfortable seating.

(3) Comfort seat calling out for frequent entertaining or quality tune at home.

(4) Frequent entertaining calls out for comfortable seating or quality time at home.




5 & § os 9199 &1 994 S |

(1) T 3 S B A" B

(2) AN REF Ty 0§ |

(3) H 9% a¥H FH JAE |

(4) afe 39 =918 o # Og BOF 9S] § Foar ol |

1[Option ID=8389]
2[Option ID=8390]
3[Option ID=8391]
4[Option ID=8392]

Sl. No.8
QBID:1554948

From among the four options given, choose the one in which the word has been
spelt correctly.

(1) Vituperative

(2) Vetuperative

(3) Vituparative

(4) Vituperetive

:ﬁﬁﬁmﬁﬂw %’ : Udp 3y (Assertion A) %Wﬁﬁ@ﬂ%ﬁw
RECACANY| (Reason R) CIRSUREE

AYBYT A TS DI IS W&m@ﬂlq TeTa’l &1 3 THH © |

PRUIR : S| YETaR| PI a1 % |
SWRIF DY & 3eie T, 11 fEU T fdwpedi ¥ ¥ 9a9 Iuged IR &l 944

DIfoly :

(1) A SRR T8I § R R A T U5 AT ©

(2) A3MRRIF TEI g TR AT S e Tl €
3) ATSI e APARTEI TR ®

(4) AGSI I g AMPIR TR &

1[Option ID=8393]
2[Option ID=8394]
3[Option ID=8395]
4[Option ID=8396]

SI. No.9
QBID:1554949

Choose the correct option to make a meanmgful sentence.

Snecha is in the art of cooking.
(1) Adept
(2) Adopt
(3) Adapt




(4) Adnut
FfiEa § o9 wea & A Tee E 2

A, Wt
B. vitig
C. 89

D. Ty
E. drEw

e feu U [Aeedl & § 981 TR &1 904 SIvY ;
(1) Hag A 3N B
(2) HE@B AR D
(3) Fa@ B &R C
(4) Ha@ C AR D

1[Option ID=8397]
2[Option ID=8398]
3[Option ID=8399]
4[Option ID=8400]

Sl. No.10
QBID:15549410

Choose the correct preposition to complete the following sentence :

Ramanujan is good mathematics.
(1) at

(2) m

(3) for

(4) mto

Fafafad & § fawdarls gm ae &9 oF 96 76l § 2

A, g
B. T+
C. HT-5H
D. &F=um-ga1
E. Tl-3qat
i U 7y faeedl & 9 99 Iugad ITR &1 99 B
(1) FTTA. B 3R C
(2) FAAB. C XD
(3) FAWB. C 3R E

(4) FTEC. D IR E

1[Option ID=8305]
2[Option ID=8306]




3[Option ID=8307]
4[Option ID=8308]

Sl. No.11
QBID:15549411

Reversing Roe is a documentary film centered on :
(1) Civil Rights Movement

(2) Debate on Abortion Rights

(3) Women's Right to Study Medicine

(4) Voting Rights for the Blacks

Rafei 3 ue gafea 3. o Fa T R af2a § -
(1) AFIRS HUHR A=BEA

(2) T YPR TR §8Y

(3) Gal-fafed g & o AR1 YR

(4) Hgdl & o ganfesrR

1[Option ID=8309]
2[Option ID=8310]
3[Option ID=8311]
4[Option ID=8312]

Sl. No.12
QBID:15549412

Match List I with List 1T :

List I List IT
(Noble Prize Winners) (Area/Subject)
A. Md. Yunus I. Chemistry
B. Abdus Salam II. Peace
Venkatraman :
s e III Economics
D. Maria Ressa IV Physics

Choose the correct answer from the options given below :
(1) A-L B-II. C-III. D-IV
(2) A-III. B-1V, C-1. D-II
(3) A-II, B-III, C-IV, D-I
(4) A-IV, B-I, C-II, D-III




= 1 % Ty Tl 11 1 e S

List I List IT
GIEGR G arACED]) @3/faa
A, HigWE g9 1. TEEEE
B. 3fegd T@mH I1. =iifa
C. dheH THIGW 11 3rfmrme
D. AIfEn IV Hifoat

i U 71U fasedi # ¥ Wl 37 &1 90 Sl :
(1) A-L B-II, C-III, D-IV

(2) A-III. B-IV. C-I, D-II

(3) A-IL B-III. C-IV, D-I

(4) A-IV, B-1. C-II., D-III

1[Option ID=8313]

2[Option ID=8314]

3[Option ID=8315]
4[Option ID=8316]

Sl. No.13
QBID:15549413

Match List I with List IT :

List T (FM Radio) ;;;:ife)
A Radio Mirchi I. Dhoon badal ke toh Dekho
B My FM I1. International Indians
C.Big FM II1.Ji0 Dil Se
D Radio One IV.....Sunnewale always Khush

Choose the correct answer from the options given below :
(1) A-I, B-IL, C-III. D-IV
(2) A-III, B-IV, C-II, D-I
(3) A-IV, B-III, C-1. D-II
(4) A-IIL B-I, C-IV, D-II




List I
(TP.TH. TIM)
A s fdt
B.AIg TH.UH.
C & uhH.
DitEgi o=

(1) A-I B-II, C-III. D-IV
(2) A-III, B-IV, C-II, D-I
(3) A-IV. B-III, C-I, D-II
(4) A-IL B-I, C-IV, D-III
1[Option ID=8317]
2[Option ID=8318]

3[Option ID=8319]
4[Option ID=8320]

= 1 % Ty Tl 11 1 e S

List IT
(&S ) (gE aTE)
I. 7 <cd & o <&l
II. 5=HEET 5ea9
11 ot fer &

1 feu v faeeal & © T8l IO &1 904 S -

Sl. No.14
QBID:15549414

Match List I with List IT :

List I
(Author)

A.Salman Rushdie
B.Arundhati Roy
C.Kiran Desai
D.Aravind Adiga

(1) A-IL B-II, C-IV, D-III
(2) A-III., B-1, C-II, D-IV
(3) A-IIL B-IV, C-III, D-I
(4) A-IV, B-III, C-I. D-II

List II
(Title of the book)

I. The Inheritance of Loss
I1. The White Tiger

ITI1.The God of Small Things
IV.Midnight's Children

Choose the correct answer from the options given below :




= 1 % Ty Tl 11 1 e S

List I List IT
(T E®) (TEA® BT H)
A TaEE W I. 3oy e a9y
B3l 3 I1. € ®M5E TR
C fo= To 111 E 7ifs 3% wa i
D.2Rfg=g anfem IV .Fesagey e

i U 71U fasedi # ¥ Wl 37 &1 90 Sl :
(1) A-L B-II, C-IV, D-III

(2) A-III, B-I. C-II. D-IV

(3) A-IL B-IV, C-III. D-I

(4) A-IV, B-III., C-I, D-II

1[Option ID=8321]

2[Option ID=8322]

3[Option ID=8323]
4[Option ID=8324]

Sl. No.15
QBID:15549415

Which company manufactured the Ambassador car?
(1) Tata Motors Ltd.

(2) Mahindra and Mahmdra

(3) Ashok Leyland Ltd.

(4) Hmdustan Motors Ltd.

HAY ] TEUST FR &1 FHar o 2
(1) zrer Aled fafies

(2) =g uws Alg=

(3) emis ders foHes

(4) fegwm= Ared fofies

1[Option ID=8325]

2[Option ID=8326]

3[Option ID=8327]
4[Option ID=8328]

Sl. No.16
QBID:15549416

Pomting towards a boy. a girl said. "He is the son of the daughter of the father of
my uncle." How is the boy related to the gil?

(1) Brother

(2) Uncle

(3) Son-m-law

(4) Nephew




UF U5 Bl AN Shd S U UF USH A Fel- M A S T S T FTEH R |
TS &1 TSH! G o0 TEYE ?

(1) g

(2) M=

(3) T™E

(4) i

1[Option ID=8329]

2[Option ID=8330]

3[Option ID=8331]
4[Option ID=8332]

Sl. No.17
QBID:15549417

If A+ B means A 1s the mother of B: A — B means A 1s the brother of B: A %
means A 1s the father of B and A »* B means A 1s the sister of B, which of the
following shows that P 1s the maternal uncle of Q?

1) Q—-N+M=x=P
2) P+5=xN-Q
3) P-M+N=xQ
4) Q-5%P

G A+BHT P A BIIHI . A— BB EHF A BHFTUEE: A%B
FIHfeP A BIIUTEIRA-BIT I fF A BB ge8. dl
fFoffEd g e dea e sxias fFr Q@ amIg 2

1) Q—-N+M=P

2) P+5=xN-Q

3) P-M+N=xQ

4) Q-S%P

1[Option ID=8333]
2[Option ID=8334]
3[Option ID=8335]
4[Option ID=8336]

Sl. No.18
QBID:15549418

If Z =752 and ACT = 48, then RAT will be equal to -
(1) 72
(2) 78
(3) 92
(4) 64
afg Z = 52 3R ACT = 48 & & RAT fds s g 2
(1) 72
(2) 78
(3) 92
(4) 64




1[Option ID=8337]
2[Option ID=8338]
3[Option ID=8339]
4[Option ID=8340]

Sl. No.19
QBID:15549419

There are equation that have become wrong due to incorrect order of signs. From
the four alternatives. given below, find out the correct order of signs. So that
equation becomes right.

§+-9=90-8§1
(1) — %+
(2) +, -~
(3) = +.—
(4) x. +.=

i &g U geiteRor Tftrdy gl & 3d o0 & WAl & SRUTTTed 8l 1T
g |+ fu U 9R fowedl 3 € ol & 3fd o8 &f ggaifAu foeg gdier
Tl g1 o |

§-0=0-¢§1
(1) — =
(2) ~.—~
(3) = +.-
(4) <. T,
1[Option ID=8341]
2[Option ID=8342]

3[Option ID=8343]
4[Option ID=8344]

Sl. No.20
QBID:15549420

If + means *, / means —, * means / and — means +. what will be the value of 4 +
11/5—-55=12

(1) —48.5
(2) —11
(3) 79

(4) None of these
gig+morf*g /worf g monf/ o -_marf+ 2 A4 +11/5-55="7

(1) —48.5
(2) —11
(3) 79

(4) 99ged § § 15 el

1[Option ID=8349]
2[Option ID=8350]




3[Option ID=8351]
4[Option ID=8352]

Sl. No.21
QBID:15549421

If (25)73 x (522 + (125)19 = Sx then x = ?
(1) 13

(2) 8.5

(3) 16

4) 17.5

e (25) 2 = (52 = (125) S =Sx ad x =7
(1) 13

(2) 8.5

(3) 16

4) 17.5

1[Option ID=8353]

2[Option ID=8354]

3[Option ID=8355]
4[Option ID=8356]

Sl. No.22
QBID:15549422

Half of a large Pizza is cut into 4 equal-sized pieces, and the other half is cut into
6 equal-sized pieces. If a person were to eat 1 of the larger pieces and 2 of the
smaller pieces. what fraction of the pizza would remain uneaten?

5
1) —
12

17
(2) —
24
7
3) —
12

13
4) —

24
% 95 U & Y o8 &1 4 SeR go sl | S1e1 701 a9 g 5% &1 6 S gFsi H#
®121 T | afg U oafad @1 1 951 9T 2 B THe @ ©, e &1 fea ur w6
g ?

o
(1) —

12

17
(2) —
24
7
3) —
12

i3
(4) —
24




1[Option ID=8357]
2[Option ID=8358]
3[Option ID=8359]
4[Option ID=8360]

Sl. No.23
QBID:15549423

In a business. A and C mvested amounts m the ratio 2:1. whereas the ratio
between amounts invested by A and B was 3:2. If Rs. 1,57.300 was their profit.
how much amount did B recerve?

(1) Bs. 24200

(2) Rs. 72.600

(3) Rs. 36.300

(4) Rs. 48.400

MR & A T4 C 2:1 # 4ot Few #=d € 9eiE A au1 B g1 Fam 21 9+ 1ikmar 3:2
ard 7 4t | afe S @M F. 1,57,300 o1 | B =1 feba-t afdn o g4t ?
(1) +. 24200

(2) ¥F.72.600

(3) +.36.300

(4) ¥=.48.400

1[Option ID=8361]

2[Option ID=8362]

3[Option ID=8363]
4[Option ID=8364]

Sl. No.24
QBID:15549424

Company A produces toy trucks at a cost of Rs. 50.00 each for the first 100
trucks and Rs. 35.00 for each additional truck. If 500 toy trucks were produced
by Company A and sold for Rs. 100.00 each. what was Company A's gross
profit?

(1) Rs. 31.000

(2) Rs. 15.000

(3) Rs. 21.000

(4) Rs. 13.000

&1 A fadm o M 30 § 789 100 2% ¥ 50.00 7R oF &1 3190 | U1 &

35.00 U3 fafeg e &1 1 Ofe Fo A 5 500 &= o g fSuaw = 100.00
i 2 s, SO A BT Fa T 1 U ?

(1) ¥+.31.000
(2) +.15.000
(3) +.21.000
(4) +.13.000

1[Option ID=8365]
2[Option ID=8366]




3[Option ID=8367]
4[Option ID=8368]

Sl. No.25
QBID:15549425

A shopkeeper fixes the marked price of an item 35% above its cost price. The
percentage of discount allowed to gain 8% is

(1) 43%

(2) 27%

(3) 20%

(4) 31%

0% GFHGR U 9% &1 JHfd Je0 596 %4 90 9 35% R HiEa s & 1 8% WM &
o 3e & wioa § |

(1) 43%

(2) 27%

(3) 20%

(4) 31%

1[Option ID=8369]

2[Option ID=8370]

3[Option ID=8371]
4[Option ID=8372]

Sl. No.26
QBID:1414741

The first modern olympic games were held 1n the year?
(1) 1900

(2) 1908

(3) 1896

(4) 1904

U Al HYHS Siciits W ford av ¥ Sriferd fovar o1 2
(1) 1900

(2) 1908

(3) 1896

(4) 1904

1[Option ID=9301]

2[Option ID=9302]

3[Option ID=9303]
4[Option ID=9304]

Sl. No.27
QBID:1414742

Which of the following agency was responsible for formulating 'A National Plan
of Physical Education - 1956'?

(1) Hanuman Vyayam Prasarak Mandal. Amravati
(2) All India Council of Sports
(3) Central Advisory Board of Physical Education and Recreation




(4) Ministry of Education, Govt. of India

Fafefea 3 @ $1 3 wokl iR R #1 oe T 3o - 1956 0UR 3 & g
forAER Ot 2

(1) T OO YRS Hed, AAEdl

(2) 3fET HRGIY E@a TNEg

(3) =i [g iR Ao $1 Faid TE*R 45

(4) TRI&T HATTT, HRA THN

1[Option ID=9345]
2[Option ID=9346]
3[Option ID=9347]
4[Option ID=9348]

Sl. No.28
QBID:1414743

Which is 1% (Basic) level of structural organization of Human Body?
(1) Organ level

(2) Tissue level

(3) Chemical level

(4) System level

T HIFE TR & GEATES S8 &1 WuH (705 W § |
(1) 3T wR

(2) Fo® w1

(3) IEEHT 'R

(4) EHER

1[Option ID=9389]

2[Option ID=9390]

3[Option ID=9391]
4[Option ID=9392]

Sl. No.29
QBID:1414744

Fartlek traming is also called by
(1) Speed play

(2) Fast running

(3) Slow running

(4) Crrcuit traming

FIESF WIS F F A ¢ ;

(1) =iz m

(2) & Sre

(3) it 7fa § S5

(4) g9y Firgm




1[Option ID=9433]
2[Option ID=9434]
3[Option ID=9435]
4[Option ID=9436]

Sl. No.30
QBID:1414745

Which is the largest muscle in the human body?
(1) Trapezius

(2) Gluteus maximus

(3) Soleus

(4) Pectoralis major

A IR B 999 dd AEne s 9 g 2
(1) Fofomsg

(2) e AR=IAd

(3) Hiferarg

(4) TFRITH Je

1[Option ID=9477]

2[Option ID=9478]

3[Option ID=9479]
4[Option ID=9480]

Sl. No.31
QBID:1414746

Building block of the body 1s -
(1) Vitamins

(2) Protems

(3) Fats

(4) Carbohydrates
R ® AT Es §
(1) fEer=

(2) wigH

(3) &

(4) @EEIESe
1[Option ID=9521]
2[Option ID=9522]

3[Option ID=9523]
4[Option ID=9524]

Sl. No.32
QBID:1414747

The branch of science which deals with cell 1s called.
(1) Cell Science

(2) Astrology

(3) Pathology




(4) Cytology

g 1 9 T & ST @ g6t 2
(1) =i ffa=

(2) waifom fagm

(3) faepfd faam

(4) wEermi

1[Option ID=9565]
2[Option ID=9566]
3[Option ID=9567]
4[Option ID=9568]

Sl. No.33
QBID:1414748

Which of the following activities are often recommended by experts to mmprove
abdominal strength?

(1) Pull-ups

(2) Push-ups

(3) Situps

(4) Tun-ups

Heie wfed ¥ gur & o fEust gr s Auffaa 8 € o1 9@ afafafidgt =1 et
F o g ?

(1) Yo 9 =i

(2) T8

(3) I5% oF

(4) i34

1[Option ID=9593]
2[Option ID=9594]
3[Option ID=9595]
4[Option ID=9596]

Sl. No.34
QBID:1414749

Research process should be -
(1) Controlled. planned and biased

(2) Planned and controlled
(3) Planned. biased and research dependent

(4) Controlled and research dependent
ST Uik a1 5] TIey

(1) FrifEe, P ek gerd

(2) Faife Siv Fafa

(3) i, geardl SR SgEyE W R
(4) FrfEE iR egdym . bk




1[Option ID=9597]
2[Option ID=9598]
3[Option ID=9599]
4[Option ID=9600]

Sl. No.35
QBID:14147410

Apart from tennis players "tennis elbow’. may also be developed commonly in

(1) Volleyball players

(2) Cricketer

(3) Football players

(4) Shooters

¢ el & arermar off 9 Tedl SHaR &R b § faeRid g1 Fabdl 8 2
(1) drdidrd faafsar

) fhdhex

o) et R

ORERIEEIE]

1[Option ID=9305]
2[Option ID=9306]
3[Option ID=9307]
4[Option ID=9308]

Sl. No.36
QBID:14147411

The number of feathers in a badminton shuttle cock should not be less than
(1) Sixteen

(2) Fourteen

(3) Twelve

(4) Ten

Sefifer ven & el &1 du 599 &4 T8 a1 9ifed ;
(1) ds

(2) 48

(3) g

(4) =4

1[Option ID=9309]

2[Option ID=9310]

3[Option ID=9311]
4[Option ID=9312]

Sl. No.37
QBID:14147412

Name the respiratory organ that is responsible for speech.
(1) Pharynx
(2) Bronchide




(3) Larynx

(4) Trachea

T YT 3T FT AT Fa5E ol Sieq & O GEER © |
(1) TeHEm

(2) #=P5S

(3) @HE

(4) Trg-al

1[Option ID=9313]

2[Option ID=9314]

3[Option ID=9315]
4[Option ID=9316]

Sl. No.38
QBID:14147413

Which tramning method develops "Strength" a physical fitness component?
(1) Speed traming

(2) Weight tramimng

(3) High altitude tramning

(4) Free hand exercise training

®I dl AT TEid RNIRG ey ged Riad [shaa &l g 7

(1) ey gfnem

(2) Tw wiRE

(3) 3 g TR Wi

(4) T ES g Ui

1[Option ID=9317]
2[Option ID=9318]
3[Option ID=9319]
4[Option ID=9320]

Sl. No.39
QBID:14147414

First step n Sports Management 1s
(1) Budgeting

(2) Coordinating

(3) Planning

(4) Directing

A USY_ B 9ol FEH T

(1) =A< F411

(2) THAG 411

(3) TiorH1 &

(4) @ e




1[Option ID=9321]
2[Option ID=9322]
3[Option ID=9323]
4[Option ID=9324]

SI. No.40
QBID:14147415

How many foul starts are allowed to an Athlete in 100 mtrs event of Athletics?
(1) One

(2) Two

(3) Three

(4) None (No Foul start 1s allowed)

Tydifead #1100 Hiex Tyl # U vuelle &1 o wea = & agafa g 2
(1) &

(2) =

(3) &4

(4) BTS2 ( FIS IS0 €L AW 761 8)

1[Option ID=9325]

2[Option ID=9326]

3[Option ID=9327]
4[Option ID=9328]

Sl. No.41
QBID:14147416

How many attempts are given to an Athlete in long jump who stood first m the
competition?

(1) 3 attempts
(2) 4 attempts
(3) 5 attempts
(4) 6 attempts

feriiar # vy = Wi Si-ard @l & o6 g § fhas e RRr o § 2

(1) &= v
(2) TN ¥OH

(3) TEWEE
(4) Eﬁ?m

1[Option ID=9329]
2[Option ID=9330]
3[Option ID=9331]
4[Option ID=9332]

Sl. No.42
QBID:14147417

The communicable disease also known as Hansen's disease 1s -
(1) Leprosy
(2) Cowid




(3) AIDS

(4) Small pox

T I e I FAH I i aT v & -
(1) B I

(2) =ifds

(3) UsH

(4) ===

1[Option ID=9333]

2[Option ID=9334]

3[Option ID=9335]
4[Option ID=9336]

Sl. No.43
QBID:14147418

Which of the following is the best measure of variability?
(1) Mean
(2) Range
(3) Standard Dewviation
(4) Median
fafafaa & § S uiad-siad =1 999 =51 U & ?
(1) 3ffwa
(2) dm
(3) A= faawH
(4) HriEE
1[Option ID=9337]
2[Option ID=9338]

3[Option ID=9339]
4[Option ID=9340]

Sl. No.44
QBID:14147419

Isometric contraction is the type of muscular contraction i which the length of
muscle fibers remains :

(1) Shorten
(2) Lengthen
(3) Shm
(4) Same

Hzamies GHa AU 959 &1 UHR o forgd g Bges @1 dars our a4t el 8
0

(1) FEEMA

(2) w1 e

(3) gual

(4) TR wEA B




1[Option ID=9341]
2[Option ID=9342]
3[Option ID=9343]
4[Option ID=9344]

Sl. No.45
QBID:14147420

Research undertaken for the sake of knowledge is called

(1) Basic Research
(2) Action Research
(3) Applied Research

(4) Survey Research

T & foru fasan man iy SR |
(1) FEEE sEyE

(2) Toa ey

(3) SHFHGT SHFHUH

(4) IO SFHUH

1[Option ID=9349]
2[Option ID=9350]
3[Option ID=9351]
4[Option ID=9352]

Sl. No.46
QBID:14147421

Cooper's 12 minutes Run and Walk test measures -
(1) Cardiorespiratory Endurance

(2) Flexibility

(3) Strength

(4) Speed

FR &1 12 fire &g 9 9 e Amal &

(1) FIfEgiaaged gg=iaar

(2) T

(3) =iEd

(4) =y

1[Option ID=9353]
2[Option ID=9354]
3[Option ID=9355]
4[Option ID=9356]

Sl. No.47
QBID:14147422

The most appropriate tramning method for long distance athletes or marathon
runners is

(1) Fartlek tramming




(2) Continuous traming

(3) Interval traming

(4) Weight trammg

el gRI & TYTiIC] a1 BRIYH UTaeh] & fo7U Tad SUgdd UiRI&l Usid -

(1) HICaD UL
(2) fA¥aR ufRreor
(3) TR W&o
(4) ol HiRrEm

1[Option ID=9357]
2[Option ID=9358]
3[Option ID=9359]
4[Option ID=9360]

Sl. No.48
QBID:14147423

Which of the following is not a function of skin?
(1) Respiration

(2) Excretion

(3) Sensation

(4) Protection

o g d e o s = 78
(1) HE4

(2) werEsH

(3) i

(4) Hzam

1[Option ID=9361]

2[Option ID=9362]

3[Option ID=9363]
4[Option ID=9364]

Sl. No.49
QBID:14147424

Central nervous system consists of
(1) Brain and Spmal Column

(2) The Axon and Dendrites
(3) Ribs and Vertebral Column
(4) The Cell body and Neurons

FemdESI I B ;

(1) ARTss 3R O # 5 B WY
(2) TS T SIghEed

(3) uwferdf sk affewa wiaw




(4) S 3R R TR

1[Option ID=9365]
2[Option ID=9366]
3[Option ID=9367]
4[Option ID=9368]

Sl. No.50
QBID:14147425

Which 1s not an item of AAHPER Youth Fitness test?

(1) Pull-ups

(2) Vertical jump

(3) Standmmg broad jump

(4) Shuttle run

FaRtfEa d deF g o . = <. sR ga1 fhew 2% &1 0 gen 8 & ?
(1) 9T 31 aH

(2) Te¥ad £

(3) EfEmars oy

(4) B I

1[Option ID=9369]
2[Option ID=9370]
3[Option ID=9371]
4[Option ID=9372]

Sl. No.51
QBID:14147426

Night blindness is caused due to the deficiency of which essential nutrient ?
(1) Vitamm - A

(2) Vitamun - B

(3) Vitamm - C

(4) Vitamm - D

Td F1 107 50 Maw0s uie a@ &t HH F S e ?
(1) fgerf= g

(2) faerfe &t

(3) faerf= i

(4) fgerfe= st

1[Option ID=9373]

2[Option ID=9374]

3[Option ID=9375]
4[Option ID=9376]

Sl. No.52
QBID:14147427

The name of valve between left atrium and left ventricle 15 -
(1) Tricuspid valve

(2) Aortic valve




(3) Pulmonary valve

(4) Mitral valve

T TEE R T itea s F A HT AW E
(1) T3-S aeg

(2) HETYHA! aTed

(3) TUHHE aled

(4) foew aeg

1[Option ID=9377]
2[Option ID=9378]
3[Option ID=9379]
4[Option ID=9380]

SI. No.53
QBID:14147428

Which bone comes out of socket in shoulder dislocation ?
(1) Femur

(2) Humerus

(3) Tibia

(4) Fibula

&Y B SoaaT H B9 9l 53] Hide § ST S g ?

(1) B

(2) ETAYE

(3) fefEm

(4) fogam

1[Option ID=9381]
2[Option ID=9382]
3[Option ID=9383]
4[Option ID=9384]

Sl. No.54
QBID:14147429

The ability of the neuromuscular system to overcome resistance with a high
speed of contraction is

(1) Elastic strength

(2) Muscular endurance

(3) Muscular strength

(4) Reactive strength

dEEIOEg 93 F1 &Hal | 3= Td & Uiy W foeg Ui S 9
(1) wER=Y =riE

(2) wiFuRig Fg-fE

(3) AEYEg wfE

(4) wiafharEi e




1[Option ID=9385]
2[Option ID=9386]
3[Option ID=9387]
4[Option ID=9388]

Sl. No.55
QBID:14147430

The back thigh muscles are also known as :
(1) Hamstring

(2) Deltoid

(3) Back muscles

(4) Quadricep

Y & g #t argufef € s esd 2

(1) BARE

(2) Swizs

(3) Ul HI HiwHRE

(4) TSy

1[Option ID=9393]
2[Option ID=9394]
3[Option ID=9395]
4[Option ID=9396]

Sl. No.56
QBID:14147431

Ability to achieve maximum speed from stationary position 18 called

(1) Speed Endurance
(2) Acceleration Ability
(3) Locomotors Ability
(4) Movement Speed

far fufa § ofdsar fa v &3 = g0 Sea 2 ;
(1) 71 FE=riEa

(2) 07 &HAT

(3) TIHMIET &HT

(4) H=oE i

1[Option ID=9397]

2[Option ID=9398]

3[Option ID=9399]
4[Option ID=9400]

Sl. No.57
QBID:14147432

How many Hurdles are there in 400 mtr. hurdle event for men and women?
(1) 10 Hurdles
(2) 12 Hurdles
(3) 14 Hurdles




(4) 15 Hurdles

qent iR Afgenstt & fm 400 Hex a1 dis & foadt Tl St 2 2
(1) 10 ey

(2) 12 ey

(3) 14 =remd

(4) 15 Tmemd

1[Option ID=9401]
2[Option ID=9402]
3[Option ID=9403]
4[Option ID=9404]

Sl. No.58
QBID:14147433

Which of the following combination of years represents the years when the
olympic games were not held due to the world war?

(1) 1914, 1940, 1944
(2) 1916, 1940, 1944
(3) 1920, 1936. 1940
(4) 1936, 1840, 1944
Fofafa § € &= @ ad 39 a9 #1 ufaHy@ a1 & 99 0y g5 & SR Sieis 8a
smafer et fey M & 2
(1) 1914, 1940, 1944
(2) 1916, 1940, 1944
(3) 1920, 1936, 1940
(4) 1936, 1840, 1944
1[Option ID=9405]
2[Option ID=9406]

3[Option ID=9407]
4[Option ID=9408]

Sl. No.59
QBID:14147434

Anistotle 1s referred to as the father of
(1) Idealism

(2) Realism

(3) Naturalism

(4) Pragmatism

] @ fpae fiar se1 e & 2

(1) aezfae
(2) gurfarg




1[Option ID=9409]
2[Option ID=9410]
3[Option ID=9411]
4[Option ID=9412]

Sl. No.60
QBID:14147435

Sports Authority of India's high altitude training centre is located in
(1) Lucknow, Uttar Pradesh

(2) Shilaroo, Himachal Pradesh

(3) Patiala, Punjab

(4) Imphal. Manipur

wiied sriifedl sifte §fgan &1 515 Uedieys S+ Hex wei fRua @ |

(1) TEAS, VT

(2) frams, EAEaweE
(3) ufeTE, UaE

(4) TR, AU

1[Option ID=9413]
2[Option ID=9414]
3[Option ID=9415]
4[Option ID=9416]

Sl. No.61
QBID:14147436

If the fat-weight of your body is subtracted from your bodyweight. the result will

be
(1) total bodyweight

(2) an ideal body fat

(3) lean bodyweight

(4) A mesomorph image

gfg 3Mus IR & 99 YR S 3U$ MR & dud | ger faar oig, o =1 9ioms g
(1) Fa IRR =1 T4

(2) UF 3wl TR B goH

(3) i SISl gor

(4) UE A9 Y

1[Option ID=9417]
2[Option ID=9418]
3[Option ID=9419]
4[Option ID=9420]

Sl. No.62
QBID:14147437

Which of the following nutrient is most needed for a healthy mmune system?

(1) Calenun




(2) Iodine

(3) Vitamin K

(4) Vitamin C

W NiReT WO & e FefafEe ¥ 9 29 W une aa 999 ofie Hews 6 2
(1) Hfeams

(2) HEREF

(3) fGam= =

(4) foerie=

1[Option ID=9421]

2[Option ID=9422]

3[Option ID=9423]
4[Option ID=9424]

Sl. No.63
QBID:14147438

XXII Commonwealth Games of 2022 was held at
(1) Tokyo

(2) Dell

(3) Bal

(4) Birmingham

2022 #F XXII UpHsa 99 wel AEid fe 7 2

(1) ==

(2) fewil

(3) e

(4) sfkm

1[Option ID=9425]
2[Option ID=9426]
3[Option ID=9427]
4[Option ID=9428]

Sl. No.64
QBID:14147439

Process of quantifying given traits, achievement of performance of someone is

called :

(1) Test

(2) Measurement

(3) Assessment

(4) Ewvaluation

few g @emit 7, 5t & verfa 9 Suafs & w09 @1 wfse w0 FEard |
(1) Tdiem

(2) HH

(3) HI+dH

(4) HeOlEA




1[Option ID=9429]
2[Option ID=9430]
3[Option ID=9431]
4[Option ID=9432]

Sl. No.65
QBID:14147440

With effect from 1995, the training of the teachers in Physical Education for
various levels of education has become sole purview of :

(1) N.C.T.E.

(2) U.G.C

(3) N.CER.T.

(4) N.AAC.

19959, e & f&iia w1 & [ Al fien § Mg & uiRe 1 teae HifeR
fFee 5l T § ?

(1) . HAS

(2) g ol

(3) TAAZeRAL

(4) TAUEAL

1[Option ID=9437]
2[Option ID=9438]
3[Option ID=9439]
4[Option ID=9440]

Sl. No.66
QBID:14147441

What is the first step in Research?
(1) Developing a research design

(2) Review of related literature
(3) Deciding about the data collection technique

(4) Formulating a research question

Y § Ugen S d 8 ?

(1) U Wy FEureA [Aafe &

(2) dafig e S Teta

(3) o1 WU deqie & N § A0 &
(4) U =Y WY TR BT

1[Option ID=9441]
2[Option ID=9442]
3[Option ID=9443]
4[Option ID=9444]

Sl. No.67
QBID:14147442




Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Physical Education is an elective discipline.

Reason R : Physical Education borrows principles from other allied fields.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R 15 not correct
(4) A is not correct but R 15 correct

i &1 Fu fay Ty # 0 AfiFUT (Assertion-A) F w0 # i@ ¥ & g o9 FR0
(Reason-R) & 0 H

Assertion A : It e o dofous ffwg ¢ |

Reason R : Tidifys firen org dag 43 S igai S SyR @t &

Siad Y & WIS H, A9 U 70 [dwedi § 9 981 9tR @1 994 Siug
(1) ASRREATUE IR R, A o1 98l @ &

(2) A ¥R R H 90 & T R, A #1 981 = 6l &

(3) AT E AFTR 3w 2

(4) Asas dfET R IR

1[Option ID=9445]
2[Option ID=9446]
3[Option ID=9447]
4[Option ID=9448]

Sl. No.68
QBID:14147443

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Agility i1s an essential component of motor fitness.

Reason R : Agility iz determined by neuro muscular coordination.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

#1991 FvA AU 0§ 0F AfiEuT (Assertion-A) ¥ w0 # @ § O g1 39F SR
(Reason-R) & &9 H

HIUFYF-A - TUeal "Il fthead &1 U 0 9o ¢ |

HRU-R. : 990a1 IHsHeR 9999 g1 (Huifa &t ordt 8 |

SUiEd BYA & A |, 44 68 T Al # ¥ "el o 1 904 S

(1) AFRRSA IO E IR R, A &1 98l agr&m &




(2) A SRREF 9@ T afed R, A &1 @81 e 97 &
(3) AYEE dfFTR 3 &
(4) AEOe ST RETE

1[Option ID=9449]
2[Option ID=9450]
3[Option ID=9451]
4[Option ID=9452]

Sl. No.69
QBID:14147444

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Norm 1s a standard set of scores with which an obtamed score 1s
compared.

Reason R : Norm 1s developed through logical experimentation.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R i1s NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

H &1 FYF 3 T & 0F SfHFUT (Assertion-A) F w9 F ffEq § & g9 59 FRU
(Reason-R) & &0 H

HHFYA-A : TFF, AFGS TR B UF 9 § fords A1y I TR B ol $1 ol o |
HRU-R : A W01 & H1909 § A4S e 6o s g |

S FU F [P 4, A" 16U 70 f[dEel H | FEl I B 999 B

(1) AIRREA TOE AR R, A # 98 = &

(2) A ¥R R IH 9@ @fET R, A F1 98t wrem T8l &
(3) ATOE AFTR smT 2

(4) Awde G RET R

1[Option ID=9453]
2[Option ID=9454]
3[Option ID=9455]
4[Option ID=9456]

Sl. No.70
QBID:14147445

Given below are two statements : One is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Team's performance goes down due to lack of co-operation.
Reason R : Group cohesion is the togetherness among group members striving
for a commeon goal.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both A and R are correct and R is the correct explanation of A




(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

H9 g1 #yH faU U §: uF SAfiFUT (Assertion-A) F w4 H [&f@d § df gEU 39S SR
(Reason-R) & &4 H

HYFUA-A ; Te0r & 4E H S0 =1 veEH frRar g |

HRU-R ; T I U6 9 00 & (010 YO &3 aid 9 & 9l & aig Udgedl

B
TG BYA & MaE |, A1 u v ! # ¥ 98 o &1 904 Sife

(1) A 3RR 3 U AR R, A & ¥ = &

(2) A 3R R EH 90 & dfeT R, A &1 981 @ 6l &
(3) AYTE AT R sFT 2

(4) AEUE U R9TR

1[Option ID=9457]
2[Option ID=9458]
3[Option ID=9459]
4[Option ID=9460]

Sl. No.71
QBID:14147446

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : An Obese person has Body Mass Index of more than 30.

Reason R : Body Mass Index indicates the nutritional status of a person.

In the light of the above statements. choose the correct answer from the options
erven below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A
(3) Ais true but R is false

(4) A s false but R is true

H 31 ®u fAU 0§ U e (Assertion-A) & ¥U H A€ g O gHU I3UE SR
(Reason-R) & &4 H

IUYFUT-A . A AT FT IS A 2T 30 T HH g ¢ |

FRU-R : Sc] A s559 dfeq &1 o Rl s emfar g o

SOlad BYA F HAE |, 44 SU T AEaa 7 ¥ el 9o 1 904 Sl ;

(1) ARREA FOE AR R, A # 95 T &

(2) A ¥RR I IO E AT R, A F1 98 wrem el B
(3) AT E AfFTR 0T 2

(4) AEag AT RET R

1[Option ID=9461]
2[Option ID=9462]
3[Option ID=9463]
4[Option ID=9464]




Sl. No.72
QBID:14147447

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : Physical Education is an art and science.

Reason R : Performing Gymastic activities has an aesthetic and creative value.
In the light of the above statements. choose the correct answer from the options
eiven below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) A is true but R is false

(4) A is false but R 1s true

= 21 v 3 710 8 U =P (Assertion-A) & ¥U # @ & a1 ga0 39 SR
(Reason-R) & 9 H

firEaa-A ; T fen o s iR e g

FRU-R : fomfes nfofafigt &1 e e e R Tes 9 § |

SUIEd ®YA & MAE 8, 59 2 1 faeea! # ¥ 98l 9 ®1 904 S ¢

(1) ARREA FOE AR R, A ¥ 95 = &

(2) A 3R R EH 90 2 dfFT R, A 91 98 = 8l &
(3) AN E AfFTR s &

(4) ATE dFTRITE

1[Option ID=9465]
2[Option ID=9466]
3[Option ID=9467]
4[Option ID=9468]

Sl. No.73
QBID:14147448

Arrange the following sources of energy for muscular exercise in order of their
sequence of availability.

A. Phosphocreative
B.AT.P.

C. Triglyceride

D. Glycogen

Choose the correct answer from the options given below :
1) B.A.D.C
) C.A.B.D
3) A.B.D.C
4) C.D.A.B




ArufREt % s & T ol $ AefalEa Sk & 398! Suasa & $A § oaafud &1 |

A. Biapifeafes
B. udid.

C. gEftrEs
D. ®gHeH

i fau U fadeg # § 961 IR &1 994 il
1) B.A.D.C

2) C.A.B.D

3) A.B.D.C

4 C.D.A.B

1[Option ID=9469]

2[Option ID=9470]

3[Option ID=9471]
4[Option ID=9472]

Sl. No.74
QBID:14147449

Arrange the Decathlon events of second day in order.

A. 110 mtrs Hurdles
B. Javelin

C. Pole Vault

D. 1500 mtrs

E. Discus Throw

Choose the correct answer from the options given below :
1) EEB.C.D. A
2) A,B,.C,D.E
3) D.E.B.C.A
@) A.E.C.B.D

g &9 =1 SHyai= wulel S w9 # oqareyd 31 |

A. 110% amen €
B. HIel &

C. g9 $g

D. 1500 #iex
E. f&sma Ui

= fau o fiwey # ¥ I8! oW &1 994 Sy -
1) EEB.C.D. A
2) A B.C.D.E
3) D.E.B.C. A
(4) A,E.C.B.D




1[Option ID=9473]
2[Option ID=9474]
3[Option ID=9475]
4[Option ID=9476]

Sl. No.75
QBID:14147450

What is the correct sequence of steps followed in research?

A. Formulation of data collection and analysis technique
B. Formulation of hypothesis

C. Identifymg the research problem

D. Review of related literature

E. Formulation of recommendations and suggestions

Choose the correct answer from the options given below :
1) D.B.C.A.E
) C.D.B.A.E
3) A.C.D.E.B
4) CCA.D.B.E

Tie & UATY U 90 & el SR e 7

A. 21 ¥ R fawe aeis &1 i
B. uR@ea1 &1 fmim

C. Sy FH &1 g

D. Ha&fia wifew &1 witan

E. faomifeeit s gemat &1 fmfm

i fau v faseg # 4 981 IR &1 994 S
1) D.B.C.A.E

2) C.D.B.A.E

3) A,C,D,E.B

@) C,A.D.B.E

1[Option ID=9481]

2[Option ID=9482]

3[Option ID=9483]
4[Option ID=9484]

Sl. No.76
QBID:14147451




Arrange the following phases of action of discus throw according to their sequence
of execution from the code given below :

A. Release action

B. Rotation

C. Release stance

D. Preliminary swing
E. Holding of discus

Choose the correct answer from the options given below :
1) AB.C.D.E
2) EED.B.C. A
3) B.A.C.E.D
@4) D.E.A.B.C

- feU U 18 9 (1e & %8 & i uR (5399 ol a1 &1 FRals &
frafdRad <=ul & a6

A. e fepar

B.c¥H

C. Reier ==

D. URIH® =G

E. (S0®d &1 gice &l

Hid feu U fapeg © © Gl 3TR &1 994 SHifolU -
) A.B.C,D.E
2) EED.B.C.A
3) BAC.E.D
4) DE.AB.C

1[Option ID=9485]
2[Option ID=9486]
3[Option ID=9487]
4[Option ID=9488]

Sl. No.77
QBID:14147452

Arrange the Grand Slam Tournaments in the chronological order.

A. Roland Garros
B. U.S. Open

C. Wimbledon

D. Australian Open

Choose the correct answer from the options given below :
1) D.C.A. B




(2) DAC.B
3) B.A.C.D
4) B.D.A.C

HIOHHE FH § ds TH Tyl &1 g $i,

A, TdE TRE
B. U 3Uq

C. fdaesa

D. s sfig

i feu U foweg # § 961 IR &1 994 S
1) D.C.A.B

2) D.A.C.B

3) B.A.C.D

4) B.D.A.C

1[Option ID=9489]

2[Option ID=9490]

3[Option ID=9491]
4[Option ID=9492]

Sl. No.78
QBID:14147453

Given below are two statements :

Statement I : Physical Education contributes to the development of physical,
mental, emotional and social attributes of the individual.

Statement II : Each individual today can not be considered as the active and
creative force of the society.

In the light of the above statements. choose the most appropriate answer from
the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are mcorrect
(3) Statement I is correct but Statement II is mcorrect
(4) Statement I is incorrect but Statement II is correct

= 21 v 3 710 8 U =P (Assertion-A) & ¥U # @ & a1 ga0 39 SR

(Reason-R) & 9 H
HiywyE-A - T e fea & e, aFles, yieEs SR amrfes o & e

# OreE Sl B |
FRU-R - Ud& oOfad &1 3o 90 &1 9y 2R e ufed & =9 § 98 9491 & S5

o
IUIEd ®YA & MAE 8, 5" 2 71 faeea! # ¥ 98l 9o ®1 904 S ¢

(1) ARREA FOE AR R, A ¥ 95 = &

(2) A ¥R R IH 90 2 dfFT R, A 91 98 =rem T8l &
(3) ATHE WHETR WA 3

(4) ATE dFTRITE




1[Option ID=9493]
2[Option ID=9494]
3[Option ID=9495]
4[Option ID=9496]

Sl. No.79
QBID:14147454

Given below are two statements :
Statement I : Anaemia is caused due to the deficiency of iodine.
Statement IT : Iodine is essential for the production of hormones in the thyroid

gland.
In the light of the above statements. choose the correct answer from the options

given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I i1s false but Statement II 1s true

H &1 By g T F uF SfHHUT (Assertion-A) F w9 F ff@q 2 o g 59 FRU
(Reason-R) & 0 H

iy A - it s S el F FRUEE© |

HRU-R. : YRS 9fl & g & Idied & [y JEdE oW ¢ |

SR BUA & ARP H, A" [GU T GFea] # | Fgl IR &1 9949 B ;

(1) ASRREATUE IR R, A o1 98l @ &

(2) A ¥R R H 90 & T R, A #1 981 = 6l &
(3) AT E AFTR 3w 2

(4) Asas dfET R IR

1[Option ID=9497]
2[Option ID=9498]
3[Option ID=9499]
4[Option ID=9500]

Sl. No.80
QBID:14147455

Griven below are two statements :

Statement I : Famuly is essentially a matter of blood relationship.

Statement II : Blood is thicker than water.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 15 true but Statement IT is false

(4) Statement I 15 false but Statement IT 15 true




H &1 By g T F uF SfHHUT (Assertion-A) F w9 F ff@q 2 o g 59 FRU
(Reason-R) & 0 H

HYFYT-A ; TR HFE" =9 9 19d 999 $TAFT S |

HRU-R : T U § 3#fda e 2 |

IqRiad ®YF & AEE 8, A Gu e e # 9 wel S &1 994 i

(1) ASRREATUE IR R, A o1 98l @ &

(2) A ¥R R H 90 & T R, A #1 981 = 6l &
(3) AYTE AfFTR s0T 2

(4) Asae dfET R IR

1[Option ID=9501]
2[Option ID=9502]
3[Option ID=9503]
4[Option ID=9504]

Sl. No.81
QBID:14147456

Which of the following events are mcluded in women's Gymnastics competition.

A. Floor exercise
B. Gliding

C. Uneven bars
D. Vaulting

E. Pommel hovse

Choose the correct answer from the options given below :
(1) A.B.and C
(2) C.Dand E
(3) A,.Cand D
(4) B.Cand D

Afeen fmmies wfaaifast § Fafafea § 9§ $E-0 w8 2

A. TR T5EEsy
B. msfém
C. g 9
D. difeen
E. ursd g
1 feu v foeea # ¥ 98t IR &1 999 S -
(1) A.B3RC
(2) C.D #RE
(3) A.C3RD

(4) B.C3RD

1[Option ID=9505]




2[Option ID=9506]
3[Option ID=9507]
4[Option ID=9508]

Sl. No.82
QBID:14147457

In sports traming. the load progress proceeds :

A. Linearly

B. Step-by Step
C. Stimulus - wise
D. Circularly

Choose the correct answer from the options given below :
(1) A and C Ouly
(2) B and D Only
(3) A and B Ouly
(4) B and C Only

B wiRem § YR wild $9 S 9edi & 2

A &S

B. ®Y §@ =4
C. SioHl & N
D. 3%FR

e feu v iAoy & § 981 SO &1 909 SifoE
(1) FHad A 3R C
(2) FEA B ™D
(3) Haw A N B
(4) HEE B R C

1[Option ID=9509]
2[Option ID=9510]
3[Option ID=9511]
4[Option ID=9512]

Sl. No.83
QBID:14147458

For developing emotional maturity:; emotional skills are :

A. Self Awareness

B. Controllng mmpulses

C. Resisting negative influence
D. Delaying gratification

Choose the correct answer from the options given below :
(1) A and B Ouly




(2) C and D Only
(3) A and C Only
(4) B and D Only

HITATHS IS dl [GHiad $349 & (60 HIgTTHE SEd o

A HTH I &dl
B. m@a &1 FdEa s
C. TFRNIEE THE &1 G0y
D. fadifad wgfe
4 feu v foea # & 921 IR &1 999 Sy -
(1) HFaa A IR B
(2) IO C 3D
(3) FE@A IR C
(4) FE@B 3R D

1[Option ID=9513]
2[Option ID=9514]
3[Option ID=9515]
4[Option ID=9516]

Sl. No.84
QBID:14147459

Purpose of systemic circulation 1s

A. Supply of O, and nutrients to all parts of the body.
B. Purification of Blood.

C. Bringing CO, and wastages from all parts of the body.

D. Removal of urine from blood.
E. Removal of water from body.

Choose the correct answer from the options given below :
(1) B and C Only
(2) C and D Ounly
(3) A and C Only
(4) D and E Ouly

YU 9T &1 S5 & |

A. TR & w1 Wil § O, ¥R e dal 21 amdfd
B. 3& @1 gfG )

C. TR & ¥4 47T § CO, 3R =39 aal 1 @
D. W& 9 g f@wen

E. TR ¥ gl FAm

= feu U Teeg H ¥ 981 oW #1994 i -




(1) Faa B &R C
(2) Ha@ C AR D
(3) Had A AR C
(4) Ha@ D AR E

1[Option ID=9517]
2[Option ID=9518]
3[Option ID=9519]
4[Option ID=9520]

Sl. No.85
QBID:14147460

A first class lever can provide mechanical advantage in form of -

A. Speed
B. Strength
C. Balance
D. Coordination
E. Flexibility
Choose the correct answer from the options given below :
(1) A.C,E Only
(2) D.B. A Only
(3) A.B. C Only
(4) B.D, C Only

wyH ATt &1 IOIo® [$9 =9 § giffe Oy e & 9edl § 7

A, Tifd
B. =&

C. Hgad
D. 9594
E. T=iamaa

i fau v faseg # 4 981 IR &1 994 S
(1) #ad A, C. E
(2) #9@ D, B. A
(3) HaU A, B, C
(4) #a0 B.D. C

1[Option ID=9525]
2[Option ID=9526]
3[Option ID=9527]
4[Option ID=9528]

Sl. No.86
QBID:14147461




Stages of learning are

A. Associative stage

B. Autonomous stage
C. Feedback stage

D. Reinforcement stage

Choose the most appropriate answer from the options given below :
(1) A and B Ouly
(2) A and C Only
(3) B and D Only
(4) D and A Only

Jea s
A. 95T O

B. T =0
C . wiafear T
D. UST =0

49 e U [Oeen & ¥ 981 9T &1 994 $ieg -
(1) g A 3N B
(2) Faa A AR C
(3) Ha@ B AR D
(4) FaED 3R A

1[Option ID=9529]
2[Option ID=9530]
3[Option ID=9531]
4[Option ID=9532]

Sl. No.87
QBID:14147462




Match List I with List IT

LISTI LISTII

Settled way of
A |Habat I. |thinking about

something

Inclination
towards a
particular
behaviour

B. |Attitude 1L

EFegular
tendency
{practice) hard
to give up
Natural ability
D). |Tendency IV |to do

something

C. |Aptitude IIL.

Choose the correct answer from the options given below :
(1) A-IL, B-II, C-III, D-IV
(2) A-III. B-1. C-IV, D-I
(3) A-IL B-IV. C-I., D-III
(4) A-IV,B-III, C-1, D-II

Yai-1 & 1Y YI-11 BT e Sifey
T e I
B. [AH4@E IL %ﬁ%ﬁﬁﬂmﬁmﬁr
C. |3ffugfd IIL. g‘-ﬁ@mﬁ-{(am@ﬁﬂ
D. [ughi IV. |PS B DI Ui &I
- fau MU faen H 9 Hel Ik &l 997 DIfel

(1) A-I. B-II, C-III. D-IV
(2) A-III, B-1. C-IV, D-II
(3) A-II. B-IV, C-1. D-III
(4) A-IV, B-IIL. C-I, D-II
1[Option ID=9533]
2[Option ID=9534]

3[Option ID=9535]
4[Option ID=9536]




Sl. No.88
QBID:14147463

Match List-I with List-II

LISTI LISTII
Pectoralis ,
Major k |Haigh
Trapezius II. |Back

Eectus Femons| III. |Chest

o|o|w| »

Soleus IV. |Lower Leg

Choose the correct answer from the options given below :
(1) A-L B-II. C-IV, D-III
(2) A-II, B-III., C-IV, D-I
(3) A-III, B-II. C-I. D-IV
(4) A-III, B-I, C-II, D-IV

YaI-1 & 1Y YaI-11 1 fHer- ey

T e I
UgeRfog Ho| 1. [oi"
cufoy 1L [HHR
YFe O | 1L @i
qicad v [FEa iR

i fGu e faseg § 9 Ul 3Rk &1 999 ST
(1) A-I, B-II, C-IV, D-III
(2) A-IL B-IIL, C-IV, D-I
(3) A-IIL, B-II, C-I. D-IV
(4) A-IIL, B-L C-IL, D-IV

CIRICIE

1[Option ID=9537]
2[Option ID=9538]
3[Option ID=9539]
4[Option ID=9540]

Sl. No.89
QBID:14147464




Match List I with List IT

LISTI LISTII

Hitch kick I. |Discus throw
Fosbury Hop II. |Relay races

exchange zone | III. |High - Jump

ola|w|x

glide technique | IV. |Long - Jump

Choose the correct answer from the options given below :
(1) A-IL B-IV, C-I. D-III
(2) A-IIL B-I. C-IV, D-II
(3) A-L, B-II., C-III, D-IV
(4) A-IV. B-III, C-II, D-I

Hal-1 & F1Y YEI-11 BT fHerr oy

A1 T I
A |EafFe I [fEoea
B. [BRgfiem |o |Raw
C. |UREV S |IIL [$dl Ba
D. [[I58 db-id |IV. [Tl Pa

+d feu U fap ey O ¥ Wl TR &1 994 HIfolU -
(1) A-IL B-1V, C-I, D-III
(2) A-IIL B-L. C-IV, D-II
(3) A-I B-II, C-III. D-IV
(4) A-TV, B-IIL, C-II, D-I

1[Option ID=9541]
2[Option ID=9542]
3[Option ID=9543]
4[Option ID=9544]

Sl. No.90
QBID:14147465




Match List I with List IT

LISTI LISTII
A |Milkha Singh I. |Billiards
Mohendra .
B. 7 —_ II. |Temms
C. | Geeth Setlu III. |Cricket
Mahesh 5 ;
D Bhupati IV, |Athletics

Choose the correct answer from the options given below :

(1) A-L B-IV. C-III. D-II
(2) A-IV. B-IIIL C-I. D-II
(3) A-II. B-IV. C-I. D-III
(4) A-IIL B-II. C-I. D-IV

Yai-1 & 1Y YI-11 BT e Sifey

a1

T fiig | L

I
fafeosd

Hifes I

HHIATY

|<FHE

e

T wal

ITT.

fopebe

D.

T AR

IV.

PURIRE

e feu U fadeq © ¥ Tel 3T &1 994 iU

(1) A-L B-IV. C-III. D-II
(2) A-IV, B-III. C-I. D-II
(3) A-II. B-IV, C-1. D-III
(4) A-IL B-1., C-I, DIV

1[Option ID=9545]
2[Option ID=9546]
3[Option ID=9547]
4[Option ID=9548]

Sl. No.91
QBID:14147466




Match List I with List II

LISTI LISTII

Lifting The
Upper Limb
Horizontally to
A |Extension I. |From Right
Angle With
The Side of
body

Returning The
Upper Limb
from

E. |Abduction II. |Herizontal
Position to the
side of the
Body.

Benting the
C. |Adduction III. |lower limb at
the knee.

Straightening
D. |Flexion IV, [the lower limb
at knee.

Choose the correct answer from the options given below :
(1) A-IV. B-III, C-I. D-II
(2) A-III, B-II. C-I, D-IV
(3) A-IV. B-I. C-II, D-III
(4) A-II. B-I, C-II. D-IV

Hal-1 & F1Y YEI-11 BT fHerr oy
A At I
W%H&fi%i
Th GHDIT
A TR | Ll sprant AR
FUHIoH
SO B &fa
B |emeqmy | |Rufdd sk &
TE TleHn
e s B ged W
C. [srs®|mm III.]__I«E.:”
|ge g HEa s
D. |Geid | IV e &

i< fGu U fdseq § 9 Ul 3wk &1 999 By




(1) A-IV, B-III, C-I. D-II
(2) A-III, B-II. C-1. D-IV
(3) A-IV, B-1. C-II. D-III
(4) A-III, B-I. C-II. D-IV
1[Option ID=9549]
2[Option ID=9550]

3[Option ID=9551]
4[Option ID=9552]

Sl. No.92
QBID:14147467

Match List I with List IT

LISTI LISTII

A Anabolic I Psychological

T | Steroids © |stimulation
Drug

B. |Beta Blockers | II. |increasing
alertness

C. |Stimolation | 1. [Pr=ulator
response

D Narcotic v Testosterone

" |Analgesics " |hormone

Choose the correct answer from the options given below :
(1) A-IV, B-1I. C-III, D-I
(2) A-IV.B-III, C-1. D-II
(3) A-lL B-II, C-IV, D-III
(4) A-IL, B-I, C-III, D-IV

YaI-1 & 1Y YaI-11 1 fHer- ey

1 T I

A WEH e L [qHid9=a SdeAl

B. [der=ied . [ Bl a6 ATt

Gdig
C. |FaeEr ARG EERYGIER
D. %aé R v ey g
i EU 70 fadhed 5 U Ual 3ok &1 999 By

(1) A-IV, B-II., C-III. D-I
(2) A-IV, B-III., C-I, D-II




3) A-IL B-II. C-IV. D-III
(4) A-IL B-I, C-III., D-IV

1[Option ID=9553]
2[Option ID=9554]
3[Option ID=9555]
4[Option ID=9556]

Sl. No.93
QBID:14147468

Match List I with List IT

LISTI LISTII
A |Malaria I. |Parasites
B. |Dengue II. |Pancreas
C. |Corona ITII. |Bacteria
D. |Diabetes IV. |Virus

Choose the correct answer from the options given below :
(1) A-IIL B-II. C-1. D-IV
(2) A-L B-III. C-IV, D-II
(3) A-IV. B-III. C-II. D-I
(4) A-IL B-II. C-III. D-IV

Yai-1 & 1Y YI-11 BT e Sifey

1 T I
A |mefmr | L |oeelid
B |27 IL (3=
C. [®RMET |1 [Sfiar
D [HyHE | IV [asg
19 fAU U faded & 9 Hel IR &1 994 DifoU

(1) A-III, B-II. C-1. D-IV
(2) A-L B-III. C-IV. D-II
(3) A-IV, B-III. C-II, D-I
(4) A-L B-II, C-III, D-IV
1[Option ID=9557]
2[Option ID=9558]

3[Option ID=9559]
4[Option ID=9560]

Sl. No.94
QBID:14147469




Given below are two statements :
Statement I : Evaluation measures qualities as a whole.
Statement IT : Measurement measures qualities as separate units.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false
(3) Statement-I is true but Statement-II are false
(4) Statement-I 1s false but Statement-II are true

SERAGRITAT R 1o

HUF [ : Gedid- Ui &1 A YHIai & ST 5 Gl g |

DY 11 : HT9T T[0T ] AT GYP Shlsdl & Y H HA1S |

JURIad HYUYH & HTdld H, Aid [GU U [dbed! T Tal 3R &1 99+ HiTolu ;
(1) HYFI AR I EHI Id §

(2) HYUFI RIS T 8

(3) PYTI I ¢, Afcpd FUTII T ©
(@) PYT I3 e, AT U I Id ©

1[Option ID=9561]
2[Option ID=9562]
3[Option ID=9563]
4[Option ID=9564]

Sl. No.95
QBID:14147470

Which one of the following term is related to the game Tennis ?
(1) Drop set

(2) Advantage set

(3) Giant set

(4) Super set

Foifed # 94 #H-9 e 9 S0 9 defid g 2

(1) SUEE

(2) ysdiew ¥

(3) wrT ¥

(4) gR ¥

1[Option ID=9569]




2[Option ID=9570]
3[Option ID=9571]
4[Option ID=9572]

Sl. No.96
QBID:14147471

The Connective tissue surrounding the bone 1s
(1) Ligaments

(2) Synovia

(3) Periosteum

(4) Tendon

Y F IR AR @NG:) SO Has o1 Sear g ?
(1) ¥4

(2) wus

(3) ui-sy=

(4) 299

1[Option ID=9573]
2[Option ID=9574]
3[Option ID=9575]
4[Option ID=9576]

Sl. No.97
QBID:14147472

A single practice session in pursuit of a trammg objective 18 known as

(1) The training unit

(2) The traming load

(3) The training schedule
(4) The training span

U I5TE F AT H UHd g SuF fF w0 9E 9 g 2

(1) W& gH1g

(2) RIS YR [@S)
(3) =TT T (RIS )
(4) wfiremn sEfy &)

1[Option ID=9577]
2[Option ID=9578]
3[Option ID=9579]
4[Option ID=9580]

Sl. No.98
QBID:14147473




Find the correct test items in the JCR test battery

. Standing broad jump
. vertical jump

. Chinning up

. Shuttle Run

. Push ups

HO MW=

Choose the most appropriate answer from the options given below
(1) A.C &D only
(2) B.C & D only
(3) B.C & E only
(4) A.B & C only
. T R, gitem 33 § w8t oitem et = Sarsd
A. ¥ign dis vy
B. dféae vy @@y
C. faf= e
D. e &1
E. O8I &1
i feu 7y fawedl & 9 9 Iugad IO &1 99 Sl
(1) $q0 A, C 3R D
(2) $90 B, C iR D
(3) $a0 B, C iR E
(4) T A, B 3R C

1[Option ID=9581]
2[Option ID=9582]
3[Option ID=9583]
4[Option ID=9584]

Sl. No.99
QBID:14147474

Given below are two statements :

Statement I : Fat-Soluble vitamins dissolve and disperse m bodily flud without
storage in the body's fatty tissues.

Statement I : Water-soluble vitamins remain i the body tissues completely.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false




(3) Statement-I 15 true but Statement-II are false
(4) Statement-I 15 false but Statement-II are true

s Rume .

&Y [ : 791 # yo-Eia faerid= iR & a9 gad Ioe! # f& JEa gu siR & wal 9 4@
wd a7 |

FU [[ : F0 § Yo Gerfi 2R & Ja! # geadl 89 I6d oo |

SUIad HUF & @IS H, d feu T fAeed! # § 9a9 I9gad I) &1 994 HId ;
(1) &Y= AR 11 S T8 &

(2) ®Y= I RIS Tad &

(3) ®UF [ WEI 2 o By [] o &

(4) T [ 79T &, A By 11 961 7

1[Option ID=9585]
2[Option ID=9586]
3[Option ID=9587]
4[Option ID=9588]

Sl. No.100
QBID:14147475

Given below are two statements :

Statement I : The Cartilage 1s able to absorb some of the compressive forces at
the jomt and so helps to protect the bone from damage.

Statement IT : Cartilage itself does not contain any blood vessels or nerves.

In the light of the above statements. choose the correct answer from the options
given below :

(1) Both Statement-I and Statement-II are true

(2) Both Statement-I and Statement-II are false

(3) Statement-I 1s true but Statement-II are false

(4) Statement-I 1s false but Statement-II are true

dediswafeume .

FYA [ : IUIRY 1S 58 Tdls g0 &1 TR0 37 § T & 3R 590 UHR T¢ g2l &
&ifey B & el B @ TEas Bl € |

U [1 - SNy § & aifesns gy =4 o1 quft 9t |

ST FYF & S H, A9 e T A § 9 999 9ugad IR &1 997 S

(1) Fu= [ 3R I S 98 &
(2) H= 1 HR II SHf Tod &




(3) Fu= I TEl &, Qfce Sy I1 Tod &
(4) AL T FUE ([ 98 F

1[Option ID=9589]
2[Option ID=9590]
3[Option ID=9591]
4[Option ID=9592]




